Table I1I - Statement showing shareholding pattern of the Public shareholder

No. of fully Shareholding eNL:Jinsehra?;s
Category & Name of the No. of paid up | Total nos. shares | % calculated quity st
. held in
Shareholders shareholder | equity held as per dematerialized
shares held SCRR, 1957
form
1|Institutions
(a)|Mutual Funds/
0 0 0 0 0
(b)[Venture Capital Funds
0 0 0 0 0
© Alternate Investment
Funds
0 0 0 0 0
d) Foreign Venture Capital
Investors
0 0 0 0 0
Foreign Portfolio
©) Investors
0 0 0 0 0
® Financial Institutions/
Banks
4 19998 19998 2.701 18278
STATE BANK OF INDIA 1 12278 12278 1.658 12278
(9)|Insurance Companies
0 0 0 0 0
() Provident Funds/ Pension
Funds
0 0 0 0 0
())|Any Other (specify)
0 0 0 0 0
Sub-Total-(B) (1) 4 19998 19998 2.701 18278
Central Government/
2|State Government(s)/
President of India
0 0 0 0 0
Sub-Total-(B)(2) 0 0 0 0 0
3|NON-Institutions

@)

Individuals -




i. Individual shareholders
holding nominal share
capital up to Rs. 2 lakhs.

709 121601 121601 16.422 87883
BABY VIJAY SHARMA 1 10048 10048 1.357 10048
HITESH RAMJI JAVERI 1 13000 13000 1.756 13000
RENU PALIWAL 1 10001 10001 1.351 10000
ii. Individual
shareholders holding
nominal share capital in
excess of Rs. 2 lakhs.
5 149807 149807 20.231 65907
HARSHA HITESH
JAVERI 1 23700 23700 3.201 23700
SHEKHAR SHIVAJI
DESAI 1 47024 47024 6.35 20524
SUHAS ASHOK KADAM 1 21683 21683 2.928 21683
BHARAT PHAPALE 1 29400 29400 3.97 0
LALIT AREKAR 1 28000 28000 3.781 0
(b) NBFCs registered with
RBI
0 0 0 0 0
(c)[Employee Trusts
0 0 0 0 0
Overseas Depositories
(d)[holding DRs) (balancing
figure)
0 0 0 0 0
(e)|Any Other (specify)
42 86891 86891 11.734 57664
Category-Bodies Corporate 23 20301 20301 2.742 7181
Category-Clearing 2 805 805 0.109 805
Members
Category-HUF 13 2589 2589 0.35 2589
TAHER SUTERWALA 1 16107 16107 2.175 0
KAILASH KUMAR
MANWANI 1 35715 35715 4.823 35715
GANPAT SINGHVI 1 9395 9395 1.269 9395
Category-NRI - Repat 4 63196 63196 8.534 47089
Sub-Total-(B) (3) 756 358299 358299 48.387 211454
Total Public Shareholding 760| 378207 378297 51.088 229732

(B)= (B)(1)+(B)(2)+(B)(3)




